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Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q1

We know that

y:smzx =ﬂ=l—lms2x
2 2 2
We have,
¥ -31- -J;DDSZR
2 2
1
= y—§=——c052)< —(

Shifang the origin at [D.—%], we obtain

1
K=X,y= V+E
Substituting these values in [ij, we get
¥V=- }cDSEX.
2
Thus we draw the graph of ¥ = cos 2X, adjust the mawimum and minimum valuesto 1/2 and -1,/2

and shift it by % up to get the required graph.
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Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q2

Whe know that
F_COSQX_M_LACOSQX
2 2 2
We have,
1 1
==+ =05 2x
FeEe
1 1 3
= ——=—oo5Ex w=E
Al 0]

Shifting the origin at [D,—%], we obtain

1
X=X, y=Y +E
Substituting these values in (i), we get
V== 1cos2>-(.
2
Thus we draw the graph of ¥ = cos2X, adjust the maximum and minimum values to 1/2 and -1/2

and shift it by % down to get the required graph.

Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q3

We hawve,
srgine
Y = s5in [X 4}
= v-0= smz[ = %] -1

Shifting the arigin at [;,D], we obtain

n
X=X +Z’ v=Y+0
Substituting these values in (i}, we get
v = 5in? X,

Thus we draw the graph of ¥ = sin® X and shift it by % to theright to get the required graph.

Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q4
To obtain the graph of v = #an 25 we first draw the graph of y = tanx in the interval

[—g, - g} and then divide the x-coordinates of the points where it crosses x-axis by 2.
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Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q5
To obtain the graph of v = 2 #an 3x we first draw the graph of y = &anx in the interval
[—%,— g]and then divide the x-coordinates of the paints where it crosses x-axis by 3. We

then stretch the graph vertically by a factor of 2.

Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q6

To obtain the graph of v = 2cot 2% we first draw the graph of v = cot.x in the interval
(0m) and then divide the x-coordinates of the points where it crosses s-axis by 2. We
then stretch the graph vertically by a factor of 2.

Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q7

We have,
ks
= S i
¥ = 008 [X 6]
n E
= y—D=cosz[x—E] -==(i)

Shifting the origin at (gJ D], we obtain

X=X+g, y=¥+0

Substituting these values in (i}, we get
¥ o= cos2X,

Thus we draw the graph of ¥ = cos2X and shift it by % to the right to get the required graph.
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Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q8

We know that
l-cos2x

e D 11
¥ =5 x= = =3 20092;(
We have,
1:
=_ - _Cos2x
4 2
- Loosox ---{i)

e

= ¥ -
Shifting the origin at [D,—%JJ wi obtain

P e +§
Substituting these values in (i), we get

¥o= —Ecoszx.
2
Thus we draw the graph of ¥ = cos2X, adjust the maximum and minimum values to 1,2 and -1/2

and shift it by % up to get the required graph.
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Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q9

Chapter 6 Graphs of Trigonometric Functions Ex 6.3 Q10
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